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Mohit.. 1 day ago @ ’M
Thank-you Sir for this Amazing class session.. 136 sir ji
And 'r—,!_/[l Reply
My Answer for today's Homework is-
Option A==136.. + (7= . 1reply
Read more
Zikra Yasmeen 1 day ago
5 CI  Reply
Option A
w 7%« 1reply 05 CH  Reply

Ravi Patel 1 day ago
136 14

i

w (™) e 1reply

Reply

Surbhi Sinha 1 day ago

Homework question answer

h &

v e 1reply

Reply

-

7=« 1 reply

Bipif wisfara 1 day ago

ﬁ- HW. Ans Option. A 136
[l/_}j' @ Reply
v (7=« 1reply
option AAAAA 136 € rithil .
A
05 CJ  Reply
+ (7=« 1reply
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xam Viemory based Faper

Topics No. Of Questions Asked Level of Exam
Number System,HCF& LCM 2 Easy-moderate
Algebra 1 Easy-moderate
Trigonometry, Height & Distance 4 Moderate
Mensuration 2 Easy

Time & Work | Easy

Boat & Steam ‘ 2 Easy
S.I./C.I,Average 2 Easy

Profit & Loss 2 Easy

Mean, Median, Mode 1 Moderate
Probability 2 Moderate
Statistics 2 Easy
Percentage 3 Easy
Geometry | 2 Moderate
Miscellaneous 4 Moderate
Total Questions R]| Easy-moderate
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The sum of three numbers is 272. If the ratio between the first and second is 3 ¢ 5
and that between the second and third is 5 ¢ 8, then the third number is:
I EEETSAT T ANTH 272 71 AfQ TRl SR TE o oo o STJUTd 3 ¢ 58 TuT gadh
R TG o o T TUTA 5 ¢ § 7, T drest dea foraet 82

W a, b, c a\e%ka%Mon

Q\O\OC— Ej Wiel W&o
" 2. 142

Q'bi \/iA\Y ‘\%6
SR %\\E%\ 3. 126

4. 236
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Three numbers are in the ratio 3 ¢ 5 ¢ 7 and their LCM is 840. Their HCF is:
AT EEATT 3 ¢ 5 2 7 oF FTTUTA H § TR ITehT oTIAH THTIT 840 gl 3ThRT HEgTH
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An article was sold for Rs.1,190 after allowing a discount of 15%. If 12.5%

—

discount is given, then for how much should it be sold?

15% AT B 3 o AT Teh TE <6 1,190 T F = 1M A1 12.5% a’ﬁwvﬁmﬁ"r%
a‘r:@rﬁmﬁﬁémwar%q

|2-57- 7 81/
/.
. —_,\S\/- 6@‘-— (&$
M{ = loo /. Pw

1. Rs.1,200

MmRY —\007. = 2. Rs.1,220

| s
N 3. Rs.1,325
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A 144-m-long wire of radius 4 mm is melted to form a sphere. What is the surface

area (in cm2) of the sphere, assuming there is no wastage of material?

4 TR BT ATer 144 Wi @ TR T TUaeTeRt T Tt J=1E1 AT ) 98 W 50
for el T ol STUsa™ TE gAAT e, Tﬁﬁaa‘rqsﬁ'cr TRCT (AHT2 W) 3T 27

\UMOO Gm 2. 676 TT

~> = \‘0’17&\\’\\/\/
‘ [ Amg Q
~ Tsh ‘-‘%V\\\Gt/ @

= AN A MY 4. 484 TC
= SACT (e

2 = 4‘
oy h = a2 %C“‘)Xfmgo To ’\D\/:a—_
( (7&\\*‘4 ¥ ) 1 400t
ﬁ—i‘ % = 7(7\)0{7\\« CH> Q6\\\»\\m———a
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The ratio of boys and girls in a school is 17 ¢ 12, and the total number of students
in the school is 1305. The number of boys in the school is:

T ThT § TAGehl 3T AZIRAT T STAUTA 17 ¢ 12 &, 3R Thet ¥ STAT hl het A&AT
1305 B Thet W TSRt chl TEAT fehat 22
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The mean of 50 items wa @ ater on, it was discovered that two items were
misread as 83 and 17 instead of 38 and 77. The correct mean is:

50 STEJST BT ATLT 24 oIT| 1S H, AT T gAT fob ¥ TEG3 i Terdt A 38 AR 77 6
amsgaﬁ'{lzmwmmﬁma%? N

Sum = SoKAY = | 200

—= @+ -

2. 334 A
\ Qo \ \Q -

N
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If the area of the base of a cone is 154 cm2 and the area of the curved surface is

550 cm2, then its volume is

AT Teh Iieh o STTUR T SAHSA 154 ﬁﬁz%aﬁiazsqﬁw I 5 5971?[#'12 gal

fRaaT 22 ’L ‘K\{Lk — s
s %S\’\ V- /7?2 A >4’77‘52"’\/ ;—62—4:@
\ $ 1\ A - 29
Tg{ﬁ@ 3 -I \Saq;? 1w o
N ()
\\5 ?] { > \_><> 2. 152 em3 A
0\ ¥ Qf’ ?é 3. {2§}cm3><
?/;mﬂ

4, @ cm3)§
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Varun gave 60% of the money he had to his wife. He also gave 20% of the

remaining amount to each of his three children. Three-fifth of the amount now left

was spent on miscellaneous items, and the remaining amount of Rs; 9,600 was

deposited in the bank. How much money did Varun have initially?

THUT = U UTH HISS TH T 60% 3T e

T e s s A a=a o o

TIeh Sht ITY TFST T 20% Y @) ot =it 58 st o6t di-uierat v fafarer seqet
R Tl SR TT9T T, 371 919 T19T 9,600 U™ sieh W STHT fehT T o) w%wwﬁ

fora= o9 o2
\,\-)\ \[O\WY\ N —LF\CQRT\C \o

6600 QS‘G\’Q\& o7,
Ao XesS DA ™ __&\\/
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A N2 Ly )
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\eo/—%\\/ XY2
6\/\25/:% —..c\’é /-
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SR> \& =€

—€ach Clild= Yo xDe7. = Q.
Mogee U = RB= 3N/,
1. Rs. 2,00,000

= 2. Rs. 1,80,000

= 64\' 7/ 0\606\1‘\5§-@

S 4. Rs. 1,60,000
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If a person walked at 12 km/h instead of 8.5 km/h, he would have walked 14 km

more. The actual distance travelled by him was:

afy =rd saf 8.5 forwiyeer & s 12 fofiydrer i nifa & wrora, @ o 14 et
WWlwﬁsmwsﬁnéamﬁmaﬁw oft?

R.Dw» Qg \& %S

Nyone —
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The average age of a group of students in a class is 15.5 years. 15 new students
with an average age of 14.5 years join the group, due to which the average age of
students in the class becomes 15 years. The number of students initially present in

the class is:

Tk helT § BT o THE hl AT 7T 15.5 TW 71 14.5 T i 37H6a AT q1eX 15 7Q
BT THE W e B &, T sheat S it 3fiea 3Ty 15 9 81 ATt 81 herm &
TR W IR BT hl TEAT fohat 82

2N . 18
;@\ 2. 12

8O N o
Qe P 3. 14
4. 15
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